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M161, Alg-Trig Exam, Fall 2005
NAME:
SECTION:
INSTRUCTOR:
HIGH SCHOOL:

You may not use calculators. The test will be graded
right answer only.

Where I satisfied my Alg-Trig Prereq.
Place a check in the appropriate box. You may mark more than one.

] Alg-Trig | Check or no check |

Courses at CSU (IMP)

Math Placement Exam

Two semesters of HS Calculus

Transfer credit taken While a HS student

Transfer credit taken While College student:
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1. Expand and simplify. (2z + 3)% = (,‘ZX) + 2(2x), 3+ 3 Sl 4X H|2KA
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For problems 2-6, simplify the following expressions, if possible (combine like terms, no neg-
ative exponents, evaluate numericaé coefficients, etc)
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7. log, 32 =
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8. Solve 22 +52+6=0. = (7( + 5>(X+L)

9. Solve for z, i.e. find the values of z described by the following expression: |z — 1| < 3/2
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10. If |2z + 1| = 3, then z =
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14. Given that sinf = 1/2, find cosf. = *\ 1— Q-
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15. Solve for z, 0 < = < 2m: cos(2z) = —;- = 2 x
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17. If x = 2sin 4, then 41 =

18. If 7 = 3tan®, then (9 +22)%/? =

19. cos0 = l

20. If y = log;4(2z), solve for z =.




